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Agre-climatic zone District

(AT A Churu

(Bylur A Dausa

(OYIV A Karauli
1A Ganganagar
g ew o oas oS @Eia § ?
FY STy gew R

(AT A T8

(By Il A S

(CO)IV A B

(1A TR

The Rajasthan State Pollution Control Board
was constituted to prevent and control which
%‘ypﬂ of pollution 7

A) Water (B) Soil
{C} Noise (D) Air
TR T TEEOT (519 HE& &l T3 oh TaTT
% el B Yy T st % fag e o 7
(A) s (B) &t
(C) @ (D) =g

‘Sewan’ and ‘Lawan’ grasses grow in which
climatic region of Rajasthan 7

(A) Semi-arid (B) Sub-humid

(C) Humid (D) Arid

ey g T O SR % REE WeeaRg e

¥y ?
(A) @dTsh (B) 9o
(C) ot (D) I

Which one of the following projects is a
joint venture ‘between Madhya Pradesh,
Gujarat andRajasthan States ?

(A) Chambal River Project

(B)Mahi Bajaj Sagar Project

(C) Marmada River Project

(D) Indira Gandhi Canal Project

et 9 ¥ B o eREsE AeRy, e o
T T & 9 i O% GgFd SUmE § 7
(A) T & aRE

(B) #é TS QETT GG

(C) wrfer =y uftE

(D) sheg wiel weY wfEn

Generally the ﬁ‘i?aiéefﬁ of South-West
Monsoon in Rajasthan is -
( A} June to @Qmmz {%} June to September
(C) July to October {@} May to August
ST TR T giph-ofyedl 9T W
& B
A;Gﬁ%’ bmy« (B) 57 ¢ e
(C€) v ¥ agET (D)= & orr

Which one of the following statements, is
wrong about the Gir Breed of caftle oir
Rﬁ* asthan 7

{A) Reared in Ajmer

(B) Also known as Rendiz

(C) Bullocks are used«for, raging sport.
(D) Originated from Saurashtra

e § 9 oF W s IeRyE § R @ %
X H oEE ¥ 7

(A) 38 oL A areT W ¥

(B) 58 Yfeans W9 ¥ oy o ST ¥
(C) ¥ & Is-Tw ¥ vudr R o § o
(D) SERpT SEWE HIUE U ¥

Adltvial soils of recent origin are not found at-
(A) Bharatpur (B) Kota

(C} Eaiieur { D) Alw

{A} W{{’{ ¥ {B} I ﬁf

(C) srage & (D) sreert

Match the following :

Project Canal
(i) Bhakra - Nangal (a) Beas - Satlyj link
(i1) Chambal (b) Jai Marayan Vyas
(ii1) Beas {c) Bist - Doab
(iv)Indira Gandhi  (d) Deegod
Prefien @ galvTG &g

i B
() wrEsT - Ji (2) =@ —gagy Ww
(ii) T=d (b) g Y Wy
(iii) sarg (¢) W= - g

(iv) gheT e (d) dme

(A) (D-(e), (i)-(b), (ii)-(a), (iv)-(d)
(B) (i)-(d), (i)-(c), (iii)~(a), (iv)~(b)
(©) @O-(), (iD)-(c), (iiD)-(a), (iv)-(d)
(D) ()-(c), (i)(d), (ili)-(a), (iv)~(B)
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Ama&w step-w 33: is 1
the following district 7

{A) Uéazpuz (B) Dausa

() Bundi (D) Sikar

T gER o erReR, B ¥ @ Rew
Rrr 2 7

© = (D) drt

Maru Vikas Board was formed in which year?
7% et % o wow Ry e F g W 7
1967 {B) 196
1969 (D) 196
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Who was the first king of Bikaner who
accepted Akbar's submission 7

(A) Lunkaran {B) Rai Singh

(C) Rao Bika (D) Kalyanmal
ST T UEE B G O o7 R ereRe @l
ST @ w7

(A) o (B) Tl
(C) T e (D) HETTE

In which district the Harshatmata temple
and Chand Bawari are located ?

(A) Dausa (B) Alwar

(C) Sawai Madhopur (D) Jaipur
WW&?WWW%%%@% ?
(A)der (B) st

(C) v wEgR (D) WK

~

The tagline/motto <of\the Transport
Department of Rgjasthan is -
(A) Move safely {B) Move on
{C) Move gquickly (D) Move fast
TSR o, 5 L8 RrATT &7 onesl SR wm g 7

(A) T, glak (B) Tl TEk
(O)zmha e (D) TR few

o]

[}
,,

T

Jawar is the tributary of which of the
following rivers 7

{A) Mahi (B) Luni

(C) Banas (D) Sukri

T @ s T e T ) gee T s 7
(A) 7 ®) T

(C) = (D) gt
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‘Bikaneri Marma and Malwi® are varieties of
{A) Wheat (B) {otion

(C) Maize {(DWGroundnut
Sl o wE e Ll R R
(A) % (B) wure

(C) ey (D) e

How much ;}ercbmage of Rajasthan's iotal
Geographical area is a@sj‘“@‘é;?ﬁaﬁﬁi v under
western desert z‘eg@*& !
W‘F‘?EWH \Ter SIS T WY
e, R T TRy 3 A o ¥ 7
(Aye9% (BY71% () 7% (D)6

“Wallra® method which is the cause of

environmental degz‘&éaﬁen, is a type of -
(A} Natural "‘Jﬁgwaﬁi ion

(B) Wild anim

() A z‘ ugﬂz;»

(D) Clinical treatment

g '@'@%, o wieely sgwaw &
BT &, @ TH TGN § -

(A) vl Ty (B) STE e

(C)oiy (D) Tafrwaa gua

ﬁ?f{}hgﬁ southern part of Rajast
(A) Prime Meridian line
B} Tropic of Capricon
() Tropic of Cancer
D) Equator line
e F ¥ B W e, e % R 9 g
?r“{z% T 7
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In Rajasthan, "Bisalpur® dam is located on
which one of the following rivers ?
iA} Banas (B) Banganga
(C) Kalisindh (D) Jawai
e ¥, e # @ e o JSawgl aty
sERug ¥ 7
(A)S7E (B) s
(C) sy (D) s
ystem ig India's

(A) gih (B) 7tk
(C) g (D) 5th

(A) o (B) arwe
(D) ufedy

Indira Lift Irrigation Project is located in
which district of Rajasthan ?

(A) Sawai Madhopur (B) Ajmer
{C) Sirohi (D) Kota
ey fowe Ries s o &
Ry e ?

(A) Farg "EIgY (B) T
(C) fatdr (D) ®R1

Who is the author of Balvad Vilas ?

(A) James Tod (B) Muhnot Nainsi
(C) Dayaldas (D) Suryamal Meesan
werg e @ e e @ 7

(A) v e (B) gem =y

(C) suwreT (D)gdaw frew

[ESAEK]

Who became the firs
Rajasthan Vidhan Sabha 7

(A) Sumitra Singh . (B) Vidya Pathak
(C) Ujala Arora (D) Kamla Beniwal
T ToRiTa, O ol o AIfEeTT STeaet e 7 ¢
(A) ghrsr |z (B) fo=n urom

(C) T orqeT (D) o e

Whe among the following became martyr
at Dabi 7

(A) Rupaji (B) Kali Bai

(C) Naynuram (D) MNanak Bhil
Frafifea & § oW s o 9@iE gor ?

(A) & (B) = w1

(C) T (D) e i
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As per the Vikram Samvat Calender on whic
day the Sheetla Ashtami is celebrated 7

(A) Chaitra Shukla Ashtami

(B) Vaishakh Krishna Ashtami

(C) Kartik Krishna Ashtami

(D) Chaitra Krishna Ashtami

frem mi(“ agiT & HATN oivereT even) Rpg W
A SR 5 7

(A)=S o e=dl (B) 99T oI ored]
(C) it o eyl (D) A FO7 aray
Which one of the following=Rajasthani
dialects has strong influence, of Gujarati ?

{A) Dhundhari (BYBry

(C) Vagadi (D) Mewati

FrefReT Tewom e ¥ ¥ R 9 WO
& AHYT gHE &7

(A) g (B) ¥
(C) =i (D)

Who, was the composer of ‘Dhola-Maru-
Ra-Doha’ 7

{(A) Veethu Sujo (B) Kallol

(C) Kripa Ram Barhat (D) Isardas

ST HE—-G%T &7 TEHR B 9T 7

(A) Sig ol (B) www

(C) pur STEs (D) O

Badhar Bhoj is kept on which occasion 7
{A) At the time of death

(B) At the time of festivals

(C) At the time of marriage

(D) At the time of birth

TR AR5 orEEy 9¢ 1@ 9 § 7

(A) 9 & w7g (B) se@al & w9y
(C) fyae & T (D)o & TI9

Which style of song ‘Gavridevi’ is known
in Rajasthan 7

(A) Khyal song (B) Mand song

(C) Bhojpuri song (D) Pandavni song
e ¥ el A e R e e e g 7

(A) & T (B) =i TR
(C) wiwgll T (D) uresaR TEA

Lod
fal

34

9 i i T Ty e o il 9
inwhich fort, the Jai Ban cannon is installed 7
2 reng I o 3
A5 Jaigarh {B) Nahargarh
P % 4 DN R
(C) Shergarh (D) Ranthambos

SR s PR Y e D
gt ¥ ey e Ay wlw ¥ 7
T g RN
f/%:% SIS aﬁ} BTG
D . PN
O Nirur @“}} {%g@@@g

Where is the Nakki lake situated ?
{(A) Udaipur (B) Mount Abu
{C) Jodhpur (D .
Ten! S e ud § 7
CRARRER (B) wrde oy
(C) sirerge (D) e

In which ruler time did the art of 'Meenakar?’
in Jaipur come 7

(A) Sawai Jaisingh

{(B) Mansingh - I

(C) Bharmal

(D) Mirja Raja Jaisingh

ST W WG W BT 6T 9T
Ay ?

(A) o wTaiE

(B) wFiR{E —

(C) wrtad

(D) Bt T waRiE

5 o EEY H

£

#hich among the following dislect
sub-dialect of 'Dhundhari’ ?

{A) Torawati (B) Rajawati
(C) Nagarchol (D) Ahirwati
Fretaigy Sl o SN O ey @ Su-SE
T Y7
(A) TR
(C) FrTE®

(B) T
} FBIET

Which(otie of the following
folk paintings ?
(A} Phad

{C) Sanjhi
Friaie ¥ € @
TWE T

(B) Bani-Thani
(D) Pathwari
W U wie oS ol e

(B) Toi-zu
(D) werardy

(A) ™
(C) wish

is not a part of
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Name the ruler\of /Alwar state who
oncluded treaty with the British in 1803.

3
{A} Pratay Singh (B) Bal ﬁi&w&r Singh
(C) Ranjeet Singh (D) Jai Singh
1803 & & wry dfY B I SIEET U
% QUEE W AN SOy
(A) Tt
(C) Toriraiis

Who inaugurated the United Rajasthan
which came into being with the merger of
Mewar in the Rajasthan Union ?

(A) V.P. Menon
(B) Jawahar Lal
{C) N.V. Gadgil
(D) Sardar Vallabhbhai Patel

hg&t TR | e *é%”ﬁ? ¥ v & e
o sRaE ?53? T ST Sgues feee R ?
(A ErLd. g9 (B) VERETET 5@

(O mefm (D) 96 TWYE 9Ty

(B) SEmeRis
(D) sl

N?hx [3§
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Who was the Architect and town planner
Jaipur city 7

(&) Vidyadhar Bhattacharya

\8} Jeeva

(C) Deepak

(D) Mandan Mishra

SR ST T ISR Ue e @y ar P
(A) Remex wgrad (B) S

(C) dums (D) 7ve Ry
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Diesel engine as compared to petrol engine
requires -

(A) Emaﬁe? :%ng} el

(B) same of flywheel

(C)no i;ywiaef;é

(D) bigger flywheel

Sow o9 ¥ VI 39 % ToNe 9IRT -
(A) oy Tiirawe 9%

(B) §9® "RqWE T

(C) B TReTwe a% el

(D) 9871 waawE 9%

What is the use of a Carburettor 7

(A) To supply air and diesel

(B) To supply petrol and lubricating oil
(C) To supply petrol and air

(D) To supply petrol, air and lubricating oil
BIG LT ST a1 UM Bar § 7

(A) w1 T e ommgla o R

(B) Torw ofT qiwse ow ogfa % e

(C) ¥ ol T angld & fog

(D) Y2, T ST TR OF oYl %

Which type of fuel-air mixture is used in
petrol engine during idling ?

(A) Rich

(B) Chemically correct

(C) None of the mentioned

(D) Lean

g ve ¥ suw-Ig Few @ Swm g
go H eEeiiT ¥ S Rewr W ¥ 7

(A) wret

(B) TG w9 W 98

(C) swiflgn & & oE_ 78

(D) agen

Which is notva Diesel Cycle operation ?
{A)Constant pressure heat addition

(B} Adiabatic expansion

(C) Constant pressure heat rejection

(D) Adiabatic compression

T ¥ B O Sd 59 WiRaT w8l Y

(A) Rt T I ST ST

(B) s&rsT fowat

(C) Rt " 9% & %1 (TseTEe

(D) Tars gusT
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(A) Frfdre om & wuw

) at twice the speed of crapiighaft
) at half aixe speed of (‘?‘&ﬁk snaﬁ

speed
(D) at the same speed as crank shaft
T 4N A9, 0§ S o gl ¥ -
(A) %o TR BT TR 9%
(B) Hw e @y e Ty Oy
(C) 2 e @t i o Froder ey o) iy ©
(D).5hw MW & TAW TR X

The fuel injector in a diesel engine -
(A) sprays atomised fuel into the cylinder.
(B) sends the extra fuel directly to the feed

tank.
(C) provides the necessary air for
combustion.

(D) draws the fuel from the fuel tank.

T T IO § SUN oTETe —

(A) Tafvst ¥ »im o9 %1 g & §
(B) we7er Tt Y SrfTia Sue e Serar
(C) Te7t & [T oaIsTe aTg @ SUTsy Sl |
(D) e <& ¥ duw g ¥

The moment of inertia of a rectangular
section about a horizontal axis passing
through base is -

T O U e o I U
FTATGR TS & TS ST B —

bi> db° av’ bd®
A) B oy 2 (py
(&) 5 ¢ ) 3 <) 3 (D) 0

52

W et o the valy AU S H 3
Wihat is the value of crippling load when both

ends are fived 7 Where { isthe actusl length.
" [y N DN .;_
gt v R e R es e W

£omTo

-~ m__‘wv_-m\?‘
B 7 wEl (vl weE ¥

2 2

T N [ > 2 WA
(&) ) {B) {2
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§1 SR s |
©) 2 (D) ;
A tensile force (P) is acting on a body of

if
length (L) and area of cross section (4). The
change in length would be -

o gal 9 (P) W =R (L) oK we e
T aee (4) % U e s ¥ awE H

o FE o P AL o) P
e ABY e () e Y s
W Wy N pE LAE

Polar moment of inertia of a solid circular
shaft of diameter D is equal to -
%, o Sgel ghw wew ol W e 7

D’ D4 D% D’
VL il Oy (D)
W B © 5 O =7

What is the ratio of longitudinal“siress to
the circumferential stress in thinwshells 7
TEe G W oesd AioSe W Sy ghed ¥
I B -

l 3
Az Bl ©5 O7

The moment of inertia of a
of base (b)vand height (»
passing through its centre
am% parallel to the base is -

& anenT (b)) TuT $EE (h) (R TIEIRe
C%vc@?}f‘o"@m *’“”}@mwﬂﬁwﬁ%@ﬁﬁ{

STYTT % TETY & 9Ny SEe onget s -

1 1

i i 3
~pn (B) —bh

(A} 32 ’ \B] 36

R 1

(©) =bh (D) —bi
3% il

7

o B

et el ofit araiiEay
P e 10y oy S 4D ra W S - —
wmagn 10 9y ofry 59 ¥, & R il

HIGRG @ B~

CAN YR - 3 FTIN A LD e R T
(A7 e {{3 i ) (B)Bo8 o ()
Fa i~ ve A3 I as S v 3 a3y
(C) 536 cm® (@91), () 184 e’ F97)

The direction 9%‘" relative velocity of two
points in a rigid link is -
(A) perperdicular to the
two_points
(B)wparallel to the line joining the tw
(Cydependent upon the rigidity @‘? %@ link
(D) along the line joining the two points
\%*@%ﬁﬁﬁgeﬁ%W%&ft@f%ﬁ
B E -
(A) QR fegell & SieT A @ & aeEq
(B) g %Fg@?‘ ® TEN T w,:u & TR
(C) Rres &7 g 9¢ BT

(D) < Tget &t iew ?%"‘?n%%i*@ﬁ%%: Y

In free vibration with viscous damping,

following statement is wrong -

(A) The damping force acts in the dire
of velocity.

(B) The inertia force acts in the opposite
direction of acceleration.

(C) None of these

(D) The Sg}‘*%;’eg force acts in opposite
direction of displacement.

o SR 9 orgEET & ary H et wu

TEY {, —

(A) FrEves F I & ‘i‘?fs Y B wHEE

(B) vom % @ el R d smaar ¥

(C) @ ¥ B

(D) fait w9 Rremw @ e R ¥ o
HET T |
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in a curved Sazﬁace Ezes -

(A) at their point of contact
(B) at the pin point

(C) at the centre of curvature
£ £5

(]
Tn GHEER e d e g0 UF @ ariG
HE B -
(A) 37 gvs & g 97 (B) i Ry w
(C) wmar % %= A (D) et W%

R
In a vibration isolation system if 'T“j““>i

|/

then the phase difference between the
transmitted force and the disturbing forc
will be -

- . W
e ww el Mee ;;”“">§ T, @ g

I
T S SMONT 99 W ewia] BT -
(A) 90° (B) 120° (C) 180° (D) 0°

Which is the correct way of designating fit ?

5z @ el & @ 9@ e T -

gy 50 1’:?}/
T (B
}{8 L } g7

50 H /
8 o 118
son, D) /g,

Which is the basic symbol for a surface for
‘compulsory machining’ 7

w3 srfrErd & T = o 9w oew was &
e ?

60°AA60°
s o
© [

InanIC engine, Gudgeon pin is used to join-
(A).8mall end of connecting rod and piston
(B) Crank shaft and piston

(€) Cam shaft and piston

(D) Big end of connecting rod and piston
grade gom ¥ e R W TEY ®
TgET B §

(A) gawie T & B Rt g Rew

(B) %o e oI e

(C) & gmwe ot e

(D) guwia 298 & S R § Tyew

(A)

©

r
/
600/ }Kéoo
(B))or D)

5@0}\/4 o
(D) rowzzios
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Angle of ascent of
(A) The &ﬁbé{f moved by the cam :ﬁ”az?
instant the follower begins 1
reaches its hig %ze:géz peszﬁ%.
(B) The angle durin g ich the follower
W.w“ﬁs 3,0 ?if‘ m;s,}az o sm’
of the cam for a
de i;i%a’:‘ dmrﬁaws ent of the follower.
(D) The angle mi‘%é}ﬁi’* which the cam rotates
during the p@m} 4 in which the follower
remains in highest position.
é@”%@ﬁ%ﬁﬁwyu%wﬁé’“%ww& -
W@ﬁ?&%*@m@@w\f% g Y SEF
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Which of the following is not a part of the
injectonassembly 7

{(AyNozzle body (B) Diaphragm
(C)Compression spring (D) Nozzle valve
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A closed thermodynamic system manifests,

when -

(A) there is transfer of both mass and energy
across the system boundaries.

(B) there is only transfer of mass, but no
heat and work energy are transferred.

(C) there is absolutely no interaction of the
system with surroundings across its
boundaries.

(D) matter is not allowed to cross the
boundaries but energy transfer does
occur across the boundary.

TH T SIS e wue BT ¥, SEis -

(A) T SISl SN & P @l areETe
% YT WFERTIT Bl & |

(B) %aw FSIAM BT RO O § AR BT
i S Tt T WITETRICOT TE o §

(C) Freema &l il & oY olREy € i &%
STTHaT TR TR ¥

(D) & et ulamT & i = Bl e = © wifeh
! o1 ATCEAT 3 UTK R CoT BN §

{A ) ‘J@rﬁ{:a% W%?ﬁ@i

( @C} ‘%fefz::mai fire tube boiler
D) Horizontal, water tube |
W?W Siaey g
(A) TeETeR, Wi Wi SR
(B) &, @1”% =T Siue
(C) Teafyy, afw afwer siuwy

(D) &ftw, w@ e SOy

B
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68 A region is called an isolated syste

(A) There is constant mass and only ener

is allowed to cross the boundaries.
(B) Neither transfer energy nor mass {o
from the surroundings.

66 For aReversible ;ﬁr cess, effectiveness is
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(C) Is one in which mass within the system
is not necessarily constant.

(D) There is transfer of energy and /hor
mass takes place.

wer 8 STEEIees e ween §-

(A)ywEl memE R war ¥ (TG wel @
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uperheating of steam is carried out -
A) atwconstant entropy
E} at constant af@“‘imﬁ
) at constant pressure
(D) at constant temperature
Ig @7 St ReET W ¥ -
(A) Fog et ) (B) P e O
(C) g e X (D) Fg amasms O3
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{A) Positive {B)
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{A) o9 (B) =

Dra p“@g?m y of the systern
Sl W§ Rufy o flm Y FueE B ¥ -

(A) e &) o FE Gtk

(B) etftrese v SRty w1, s 5 e
FrERe A SEng

(C) arfyrngs Wi ot ¥ 75 Fe T AW
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ANcyclic heat engine operates between a
source temperature of 800°C amﬁ; }
?te pcz‘aiuis@ of 30°C. Wha ?, is the maximum
er&sy of the engine 7

&5 B T 800°C it w
% WY yEiwe gl ¥, SO @l
siiepaer geraT @ BRN 7
(A)39.2% (B) 71.8%
(C) 96.2% (D) 28.2%

A boiler plant supplies 6000 kg/hr of
at 10 bar and 250°C with enthalpy mmem
2942.6 %z/xg from feed water at te emperature
37°C z\;zgum enthal *y 154.9 ki/kg). At this
time, it uses 800 kg/hr of coal having a
calorific value of 30,000 kJ/kg, then
efficiency of boiler will be -
TH gowy wie 10 s oaw 250°C 9%
2942.6 kl/kg TUq & wg 6000 kg/hr w
37°C &% w9l 5 (59 T 154.9 k M,ﬂ/m, g
TR BT ¥ | 39 T 9E 800 kg/hr W
et %r“‘r? e 30,000 kl/kg wEn w3,
GUCIESEEAI RIS
(A T79.7% (B) 59.7%
(C) 69.7% (D) 49.7%
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Bernoulli's equation is applicable at all

points in -

(A) S&a@ irrotational  flow  of
incom fg?aasga%éc fluid

(B) Any rotational flow of incompressible
fluid

(C) Any type of irrotational flow of any fluid

(D) Steady, rotational flow of incompressible
fluid

T e B Yy ?ﬁe@%“’ %{g s ¥ -
(A) odey 5 & orarced, ongell gas & Ry
fﬁ}m@@ﬁ%%ﬁéﬁwffm%%q
(C)yzw & frdl o vt & orell v % R
{mmﬁ@w%mm,@mm%%z

Maximum efficiency of power #1
through pipeline is -

UEY @iET o HeOH gl guie o aifuead
TEAT B § -

(A 75% (B) 66.67%

(C) 50% (D) 100%

A beaker half filled with water is exposed to
the atmosphere. If the pressure at points A, B
and C as shown in figure are P, P, and P
respectively, which one of the following will
be the relation connecting the three ?

T T ST W O U S aIgHSH o et
¥ ¥ T ¥ oy omER R A, Bag Ot
T e P, Py @@ P, ¢ | Fafwfea ® @
BE G TR I A B Sl § 7

ansmission

A

B C
(A)P, > P, 3P,
(© P, < Pg=ly

(B) P, < P, <P,
(DyP, > P, =P,

Which-part 18 fitted in reciprocating pump
to-obtain continous supply of fluid at a
uniform rate and also reduce the possibility
of separation 7

{(A) Suction valve  (B) Draft tube

(C) Air vessel (D) Delivery valve
TR TR B W9 S 9 9 R
59 H FAE 8 WX WA BY § g A B
TUT GUSFHELOT B GHET HH FQ@ & 7

(&) T T (B) g oy
(C) Trg T (D) werl e

fa—y
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Centrifugal pumps are used for transport of -
(A) Power (B) Speed

(C) Fluid Oy P
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The specific speed. 0fa centrifugal pump is
given by -
HUhRl o L ive T & S 8 -
NyO z@
ng (%} .,W..M

HE H};
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§Q NyO

H2
n

(©)
H4
i

{where H,, = Manometric head)

(wEl H,, = sy 9w)

For Negative slip of a Reciprocating pump,

which statement is correct 7

(A) Actual discharge is equal to theoretical
discharge.

{B) Actual discharge is more than theoretical
discharge.

(C) Actual discharge is less than theoretical
discharge.

(D) Actual discharge is zero.

GYE IR hl WO ReT % W BE 9 S
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82 /Thesavailability function is expressed as -
WA BRSO BT § -
; ( \
(&) a=lu+ Ryy—Tys]
(B) a={u+Fdv+ MOQ‘S}
~ A
{C) :{ﬁzﬁ Bydv —Tyds )
™ g=ly+ PyarTos)
g\g_,} & "—\éi T ‘{,\Ei ”T‘,('{)o;
83 The air standard efficiency of a diesel cycle
is expressed as -
. A
o TF ¥ TUT RUEE T Saw o i R -
11 rl+l
Ay Rm s e S
{ ¥ % <
Nl ¥ [(Y for o+l
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T z”cy +1
[Ty T 7 e o s
D) A e |
§ k C
where V= ratio of specific heats,
r, = compression ratio, #, = cut-off ratio
SV Cit i i i
1, = GUET UM, 1, = @e-3iw FUR
84 Which of the statement is true for first
angle projection 7
(A) The observer is"between the object and
the plare of projection.
(B) The plane of projection is between the
observer and the object.
(Crdone of these
(D). The object is between the observer and
the piaﬁe of projection.
g BT GET Eﬂ ERERCHEE R i
(A) wEEE 9 oK THTv-I9 & 99 ¥
(B) 78T-a@ THaEE oK TR 6 99 T
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(D) a5y WEEE ol THue-TE & 9" &
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(A) gEETEY

P
(<

(AyRemoved sscﬁ@ﬁ (B) Revolved section
(C) Aligned section (D) Partial s ::?
ot fow ¥ velie ofeee @ oyee ¥ -
(A) T gon ufveds  (B) goft uftedy
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Ef a thread is specified as “M 16 x 1.5 &g
LH Double”, g stands for -

(A) grade {B) tolerance

(C) hand of the helix (D) type of pitch

ST W Tl @ “M 16 x 1.5 8g LH Double”

o R par o R, W@ g w el ¥ -

(A) grefy (B) =g

(C) Fealt w1 & (D) g @7 waiY

on

The ignition coil in an automobile acts as a -
(A switch

(B) step up transformer

(C) dc 10 ac converior

(D) rectifier

% AR § v geal 79 & €9 3 By
(A)y==

(B) vl TrawmET

()T & & v uiEds

(D) fewamri




90 Which type of lubrication system is used in

light weight two stroke p etrol engine 7
(A) Wet sump lubrication system
(B) Mixing about 3 to 6/ lubrication oil

with petrol
(C) Pressure lut *M 3
(D) Splash lubrication system
o 3 2 S o ¥ & i
T z;*—eg"?f Th s 7
(A) T v GRERYE gomal
(B) wl 3 ¥ 6% wReslen aifow U9 & ay
e
(C) 93T FReha™ T
D}%@% f«zg?*%fm‘ Rl

91 Magneto ignition system is not used in the
following -
(A) Scooter (B) Racing Car
(C) Truck (D) Motor Cycle
o) e Tt FretRae o s Y e ¥ -
(A) T (B) YR =
C) s (D) #irex wgie

S.1 (Petrol) engine

92 Knocking tendency inan S
reduces with increasing -
(A) Wall temperature of combustign

chamber
{(B) Super charging
(C) Engine speed
(D) Compression ratio
TH.eng. (W) 9 ¥ ouwmRn vk R
TET Y T E
(A) oo B¢ & RT H aumd
(B) s
(C) &5 @ =T
(D) €T aruE

93 The sttoke length of the engine is -
(&) Bqual to Crank radius
(BY Half the Crank radius
{(CyTwice the Crank radius
(D) Four times the Crank radius
IS @ T wEE ekl § -
(A) He Bt & IO
(B) $w By & endy
(C) %w Bromm & g
(D) ¥ Browm & ¥R T

&1P2
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97

| PO . (PR | +
In a beam, maximum bending occurs al a
‘E JE A,
section, where shear force is -
I PR SN 7
(&) M@xmum (B) Zero

(
(C) Constant (D) Minimum

T U ¥ ey €99, U o UT 99 R
?‘J, sl AT g9 ¥ -
(A) erftees

(C) Fram (D) =7
Section modulus of a circular section ‘of
diameter.d ig ~

E
md” nd
(A) SN
2
3 4
id m’
C) — (D) —
© = Y e

The ratig of moment of inertia about the
neutral\axig to the distance of the most
distantpoint of the section from the neutral
axis is called -

(&) section modulus

(B) modulus of rupture

(C) flexural rigidity

(D) polar modulus

SEEE oE & 9w Wea oY G W &
T oE © wEe g X Rem R @ gl
ST HEART & —
(A) uf=sg waies
(C) el gear

(B) ToETCer A
(D) g =raies

A simply supported beam of span ( carries a
point load W at the mid span. The downward
deflection under the load will be -

TS (T U GTETOT SR € Sl e
TEE U TH g WK W uEE e € %
Y @ oK fadwr g

we Wi

(A) 977 B) G5 77
Swe 0 e
© TgaEr ) 37

98 Af\ashaft diameter is halved then for same
terque transmission shear stress will
become
(A) two times of earlier
(B) four times of earlier

(C) eight times of earlier

(D) the same

1 T WO W ST W STl Y faaT Wil al
R & 5 %”“{ B¢ thi QU
CRE IS S

99 The zﬁzgéli of a watt governor is

1006 The condition for the transmission of
maximum power is when T (maximum

tension) is equal to -

siftrera oTfeRT & Te & e e we e ®
we T (afreos o9r) SO o & -
A)2Tc B 15T (Q3Tc D) Te

101 What happens when sleeve of a porter
governor moves upwards ?
{A) The governor speed decreases.
(B) The governor speed is unaffected.
(C) None of these
(D) The governor speed increase
T U TR I B IR WY
TEA! © T T B 7
(A) I BT Y A B TR S M
{Bkﬂa‘g'{ﬁ'ﬁﬁﬁ@**cﬁég L, @ B |
(O T ¥ o =&
(D) TeET @ afy %%T.‘S SR
S not an inversion

102 Which of thewfellowing i
of single slider erank chain ?
(A) Oscillating cylinder engine
(B) Elliptical trammel
(C) Rotary internal combustion engine
(DyPendulum pump
fe % ¥ B W woE 9 B
&l TEHA T T 7
(A) S RfvesT oM
(B) Sty Faw
(C) gt sr=aiter &8 go
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104 For maximum p@ wer {ransmission
drive, the centrifugal tension is -
A One third the maximum permissible
7 &

by belt

tension

(B) Two third the maximum permissible
tension

(C }Ore fourth the maximum permissible
tension

(D) Half the maximum .
WWW@W@T&EW%THQ
"“’“\?A"%% RGN

(A) sea TR OE W OH *??sfg
{B} aTRerem ARG T @
(C) wiuepa™ ST ra T &7 1
(D) st e GATE @l e

105 The secondary unbalanced force due to inertia
of reciprocating parts in an engine is equal to-

B ES G mwl S s el ]
e \wq T &9 SUST BT -
w5 w9
(A) —@ rsin® (B) — @ ¥ sin 28
4 &g
W{\z e W
FE R o8 TN e £5
© ?w rcos 28 (D) "é‘z‘w




106 Sensitivity of a governor is defined as the

ratio of -

(A) mean speed to speed range of governor

(B) maximum t{o minimum speed
governor

{C) speed range to mean speed of the

T ] GUNEa Bl e & SR
(A) e & e Tie O TRy W
(B) Tt % ST T =gead T
(C) wreFiT @ T 9" T e Y
(D) weaT & WU TY @ Y 9N

107 The absorption type of dynamometer is a -

(A) Epicyclic dynamometer

(B) Belt transmission dynamometer
(C) Torsion dynanometer

(D) Prony brake dynamometer

SIS FeTE BT BOAHIET § —
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(A) TirEEiee SEREHRT
(B) ¥ TR SHHMET
(C) =i sEERT

(D) Urll 9% SRIFMEMIET

108 Detailed Working Drawing generally does

not give information regarding -
(A) Cost of parts

(B) Size of parts

(C) Tolerance of parts

(D) Material of parts

forege sEwl-gEn, e B ¥ @ @

T weiE, w8 e 7
(&) 57 B T (B) url @ SR
(C) ary e giesqar (D) wen &0 gare

189 For a spur gear, the product of circular pite

and diametral pitch will be -

T OGN e ST BT 7

3 R TRV ahaft < .
116 Basic shaft is a shaft whose -

A, P . a
(A) upper deviation is zero
(BN 11y i e e
(B) upper and lower deviation is zero
{C) having zero tolerance

(D) lower deviation is zero

o oW E TER BNl ¥ feEe -
(A)ve foreem oo ©

(B) o= @@ = Rraee §F
(C) SF=IT T B
(D) =t oo s ®
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111 Which is not a part of a<standard shaper
tool head assembly ?
(A) Clamping screw
(B) Swivel plate
(C) Barrel
(D) Drag release plate
= & ¥ oW Q0% TEE 9T T T oA
& W LY 7
(A)ERdT B (B) €@ ®<
(@ (D) §7 R =

182/ Which is not a type of cam follower ?
(A) Knife edge follower
(B) Flat follower
(C) Roller follower
(D) Involute follower
e ¥ ¥ B 91 0P B BIEIOR @ YR el § 7
(A) g0 g wieet  (B) g9aw Bl
(C) AT wide (D) TTEIRE WA

113 Which curve shows the displacement of the
follower as ordinate on a base line that
represents one revolution of the cam ?
(A) follower cycle
(B) cam cycle
(C) reciprocating chart
(D) displacement diagram
BT G TH B & RRUE w Gl & w9 H
FTETC @ U & ¥ 9 % B9 5 Um T o
aar ® 7
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115 The specific heat of an ideal gas depends on -

{A) Pressure

(B) Volume

(C) Molecular weight and structure
(D) Temperature

gl g o R s P ww ® -

(AT

(B) s

(C) anivas 9 T GX=
(D) Trasmn

116 For pipes arranged in parallely correct

statement is -

{A) The head loss due tg friction is same
through all the pipes.

{B) The discharge divides'in the ratio of the
pipe.

(C) The trial solution is required to determin

the diseharge through saﬁwh pipe.

(D) The discharge is same through all the
pIpEs.
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(‘D

pressure above atmos
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(A) e OF = y9Idr 9 — SR g
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118 Friction factor forlaminar flow is given by

UTHE R o W SO O BT § -

(A) (64/Re) (B) (Re/16)
(C)(16/ReY (D) (Re/64)

he %m%nuéiy quation is based on the
principle o

Wi

{A) Cgmewa ion of energy
. '~ (B) Conservation of momentum
H{O) é@%se”vaim of force

(D) Conservation of mass

o e Toer 9 eI §
(A) el & 6XE (B) g7 & ¥R

(C) 7w & TxE (D) w=ww % weE

120 For flow through pipes, the laminar flow

occurs, when Reynolds number is -

(A) More than 4000

{B) Less than 2000

(C) z%svmeﬂ 2000 and 4000

(D) Less than 4000

TR & e U X v v i Y, O e
N

e B ¥ -

(A) 4000 & v

(B) 2000 & ==

(C) 2000 afrr 4000 & 99
(D) 4000 & &%
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